0.121

w7

)

MEHBAG —
69. 26
R (2 ZI 26 b\
18,689 8
37.49 & 2281, 06
S
27-9 -
— Py
& / 171,48 = & tg A v?%
'%/ = VES/S
& 13,556 = 53
= y &2 256. 56
&% pid
& 27-10 =
193. 62
&
7,080 15.80¢ ﬁ 10,262 \”’% 17.020 2.0 vy
%741 537 20,78 i T a0 7366 12,347 7. 138
15,837 12.191 3,64 35,945 L 118 14703 19,074 %.132 27.696 27,706
5 3\
28-6 Y
508. 50 < ® = "
/
/ /
. / 281
285
940,91 g/ 53, 59 ® ) 39-3
& 3374.10
B ¥ 28-4
T ) 836.70 . ‘
:0)ﬁEii’mIZE¥IE$%@?@iﬂmﬁwﬁﬁb*??bhfzé’lﬁ%@%@’@‘?) Y, BEEINTULSHETR, #ME. KRFIZONT, RXKE2TH25~27%&
HEODARELELBDIZENHYET, HAETSEEHELTHERLTLESLY,




